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SEEERUNES 73,030,000 2,800,000 75,830,000
SEECD & 58,000,000 0 58,000,000
M EF 12,842,000 0 12,842,000
SNEHE 2,188,000 2,800,000 4,988,000
HEETERFREFZFTNG 1,160,000 0 1,160,000
FHEEIMERFEEZ TN 1,160,000 0 1,160,000
ZNSE 165,000 165,000 330,000
NE=F 165,000 165,000 330,000
SIHEES 16,620,000 0 16,620,000
ZEESRE 8,310,000 0 8,310,000
SERETfHBhE 8,310,000 0 8,310,000
SOEE 50,000 0 50,000
SZINEMNE 50,000 0 50,000
MR 2,000 2,000 4,000
SEFIR 1,000 1,000 2,000
HMEUNZE 1,000 1,000 2,000
BREUNEEET 91,027,000 2,967,000 93,994,000
()FEER 0
B5E 91,235,000 0 91,235,000
D E 58,000,000 0 58,000,000
XM EF 6,421,000 0 6,421,000
HB5FY 8,846,000 0 8,846,000
EERTE 2,607,000 0 2,607,000
RBHANER 273,000 0 273,000
BHNEEE 35,000 0 35,000
RERBE 161,000 0 161,000
BIEERE 547,000 0 547,000
frefEmE 256,000 0 256,000
HERE 825,000 0 825,000
ERE 274,000 0 274,000
FNRIEAE 76,000 0 76,000
e 1,698,000 0 1,698,000
bR 1,179,000 0 1,179,000
EE 7,454,000 0 7,454,000
GiEL TR/ S 325,000 0 325,000
N 1,818,000 0 1,818,000
& 94,000 0 94,000
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IFER 320,000 0 320,000
NMEE 26,000 0 26,000
BIEE 0 2,967,000 2,967,000
e 0 310,000 310,000
12 E RN 0 142,000 142,000
Hw5FH 0 423,000 423,000
EERNE 0 146,000 146,000
RERETER 0 10,000 10,000
BHELEE 0 3,000 3,000
BEERERRE 0 176,000 176,000
RERBE 0 319,000 319,000
BIEERE 0 35,000 35,000
R mE 0 2,000 2,000
HEmE 0 52,000 52,000
ERE 0 1,000 1,000
ENRIS A& 0 13,000 13,000
&8 0 43,000 43,000
REgRR 0 29,000 29,000
EE i 0 480,000 480,000
B NER 0 159,000 159,000
PNy =bi=ksd 0 469,000 469,000
E N 0 75,000 75,000
XIhFER 0 18,000 18,000
NE& 0 7,000 7,000
EEENE 0 5,000 5,000
HE 0 50,000 50,000
BREERE 91,235,000 2,967,000 94,202,000
T tE R S A A S R IR R ER A 208,000 0 A 208,000
LRI A 208,000 0 A 208,000
2 FEEIMBRDER
LR E SRR 0 0 0
L HR— AR E KRB EELE RAE A 208,000 0 A 208,000
— R ERIAERIE RS 3,656,000 6,592,000 10,248,000
— X IEBREA EERAR SRS 3,448,000 6,592,000 10,040,000
I {5 E IEBRBAEEDER
L RS B IE R EA EE S RAE 0 0 0
B ERAERE%RS 0 0 0
B ERMERE%RS 0 0 0
IERREA EERAR SR = 3,448,000 6,592,000 10,040,000




